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CS 61C Number Representation
S Spring 2020 Discussion 1: January 29’5}1, 2020
Q ' T - Notes
\ J° We nefresent Numbers a/s" ,
98, = l10°+0 4210 +30

o | Unsigned Integers n

base (0=degmal Brrary (% simlar: 110 | =
If we have an n-digit unsigned numeral d,,_1d,,—2 ...dp in radiz (or base) r, then
the value of that numeral is E?;Ol r’d;, which is just fancy notation to say that
instead of a 10’s or 100’s place we have an r’s or r?’s place. For the three radices

binary, decimal, and hex, we just let r be 2, 10, and 16, respectively.

We don’t have calculators during exams, so let’s try this by hand. Recall that our
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preferred tool for writing large numbers is the IEC prefixing system: WU}A\ (

Ki (Kibi) = 210 Gi (Gibi) = 230 Pi (Pebi) = 2% Zi (Zebi) = 27°

b(&/h'

Mi (Mebi) = 220 Ti (Tebi) =24  Ei (Exbi) =250  Yi (Yobi) = 28

(a) Convert the following numbers from their initial radix into the other two
common radices:
WI=q 1413
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0y 0100 0000 Sa €3 = 49-1 (o
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3. 000100100 = 36 = 0x24 ;™ +25= 4 39 = 76
4.0=000=0x0 273,77 thow 70y (1D
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5. 39 = 0b0010 0111 = 0x27 o

437 = 0b00OL 1011 0101 — 0x1B5_S2& “helpuge o low 5
~ 05 42 1 2f

m
7. 0x0123= 0b0000 0001 0010 0011 = 291 | o +s2+4756=249]
(b) Convert the following numbers from hex to binary:

~+ S 1 1t ,5
@ 0xD3AD = 0b1101 0011 1010 1101 = 54189 2%+ 127 #2170 T

e 3,

\ n
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2. 0xB33F = 0b1011 0011 0011 1111 = 45887 -~ ~+1 *2*V*2

3 1%
3. 0x7EC4 = 0b0111 1110 1100 0100 = 32452 2 +254 274294 %2y 2 @

(¢) Write the following numbers using IEC prefixes: o

2728 20 2 e
(#)210 = 64 Ki 22T — 128 Mi e 28 =8 Ti o 236 — 64 Ci
e 2% =16 Gi o 201 = 2 Fi 27 =128 Ti e 2% =512 Pi
\,So'bqr ’\,Ufl [ 1 1 7/,5‘9’ z,,\
(d) Write the following numbers as powers of 2: _
7" M7 1L
()2 Ki = 2! e 512 Ki = 2" e 16 Mi = 2%
e 256 Pi = 2%8 e 64 Gi = 26 e 128 Ei = 267
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Number Representation

\5}\8"/ ) Signed Integers o ¢ 0
Unsigned binary numbers work for natural numbers, but many calculations use UAs‘j"‘CJ =3 Tt L _r Z 1
negative numbers as well. To deal with this, a number of different schemes have \ {/(” € % ‘f é")/"’ 173
been used to represent signed numbers, but we will focus on two’s complement, as it -
is the standard solution for representing signed integers. = 2 <D 5

e Most significant bit has a negative value, all others are positive. So the value of ]L,J0S COMP ’ t2 19 fi-z

an n-digit two’s complement number can be written as Z?;OQ 2d; — 27 d,_,. ﬂ R! ":UV //72(}‘ (Aéc/, ohe,.'.l

e Otherwise exactly the same as unsigned integers. 99 / |99 (0%l = 00| ] 00' 1
(
e A neat trick for flipping the sign of a two’s complement number: flip all the So Zo'f'Z t 29'1-@5
bits and add 1. (¥2 t16132> ¢ /
e Addition is exactly the same as with an unsigned number. <\' n UJA'}C /?—S/%CLU Q’f l,r/% ;ﬁ

Ay

e Only one 0, and it’s located at 0b0. ks At ’Lq’ '00‘5‘/1”1" :?/YO’/WMM ~8 |
/ k - . ~
For questions (a) through (c), assume an 8-bit integer and answer each one for the Btﬂ-s - TA‘u & 9 M; Ua] -
case of an unsigned number, biased number with a bias of -127, and two’s complement CLéCi bf&zg; Z 0 Q -—12 7 i 7 ?
number. Indicate if it cannot be answered with a specific representation. g ee L‘pw %C““"{ L,’:h Cn

(a) What is the largest integer? What is the result of adding one to that number? e A Y”Lfﬂl l, Ard 4ber Bﬂfn“l‘;

1. Unsigned? 255, 0 Né'uﬁj F‘f /Gf/Q)ZA'{A"{‘I"’l ,‘

2. Biased? 128, -127 l&fgﬁdg’ ﬂv’”bﬂr F8as= 25— )= [7/?

.
- S N DNe
WA A TS 3 Ty Complement? 127,125 | V9 Conplemn? B S F
rle vAsig ~ed P ety v P Cadin pos MVE AUMITL,
d/\a - ’H\L(b) How would you represent the numbers 0, 1, and -1?

s hVve Eelo. Lo, Tdlies

( o T ep e 5/31/\% WM b eyT )V nvis g ed
Volve of kbe 1. Unsigned? 0b0000 0000, 0b0000 0001, N/A & J

NVan ber yo Vv V/ﬂb\*‘zé A
/ 2. Biased? 0b0111 1111, 0b1000 0000, 0b0111 1110 (- @ —Pas= = (-led=127 ) =2 EnDR128) ) - (ndy,,
- /\
N hos= ¥ 3. Two’s Complement? 0b0000 0000, 0b0000 0001, 0b1111 1111 /
Se ¥ _ (& 4 €5 9.7 7'{ 9
N=X 1Or&fc) How would you represent 17 and -177 7142 AU D L a0 =128+ )27 = -/

%)

0 _or- -C'll'w Ai)‘? O'P (Mc!aﬂd .
1. Unsigned? 0b0001 0001, N/A |7:lé+(¢‘L L [:

0 eopeso) o ([() (V0O ~+1=
2. Biased? 0b1001 0000, Ob0110 1110 |9+ Lh'?)':N“f 4= 10

= )
3. Two’s Complement? 0b0001 0001, 0b1110 111 (7 0001 °%° 412 ) lern)

. 0
e l/“’—y\ﬂ(,l N _ [7: _ —,4?"1'1‘{ -(*‘LJ‘I“ L_f.'L\‘fLa o/ ™= H‘O“l
(d) What is the largest intéger that can be represented ﬁy any encoding scheme

LU

that only uses 8 bits?

There is no such integer. For example, an arbitrary 8-bit mapping could choose
to represent the numbers from 1 to 256 instead of 0 to 255.

(e) Prove that the two’s complement inversion trick is valid (i.e. that z and T+ 1
sum to 0).

Note that for any x we have x +7 = Obl...1. Adding Obl to Obl...1 will
cause the value to overflow, meaning that Obl...14 0Obl = 0b0 = 0. Therefore,
r+7T+1=0 _
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Number Representation 3

A straightforward hand calculation shows that Obl...1+ 0bl = 0.

(f) Explain where each of the three radices shines and why it is preferred over

other bases in a given context.

Decimal is the preferred radix for human hand calculations, likely related to
the fact that humans have 10 fingers.

Binary numerals are particularly useful for computers. Binary signals are
less likely to be garbled than higher radix signals, as there is more “distance”
(voltage or current) between valid signals. Additionally, binary signals are quite

convenient to design circuits, as we’ll see later in the course.

Hexadecimal numbers are a convenient shorthand for displaying binary numbers, r_(
owing to the fact that one hex digit corresponds eﬁactly to four binary digits. "' (7 ot

\ O e cw”“&o o +
W 3 Arithmetic and Counting Q)(N"()\eb Yy = X 510: 4o (P‘l/,(EM(/\‘)’ |

Addition and subtraction of binary/hex numbers can be done in a similar fashion as

ws —

0 wm be WQA/F'F'H'?
v £low ¢ ot

U‘)V’\‘\'\ with decimal digits by working right to left and carrying over extra digits to the
next place. However, sometimes this may result in an overflow if the number of bits (/W in f COV?'
can no longer represent the true sum. Overflow occurs if and only if two numbers

Q
with the same sign are added and the result has the opposite sign. 0| ’l/%‘b l

(a) Compute the decimal result of the following arithmetic expressions involving 000 I [ )

6-bit Two’s Complement numbers as they would be calculated on a computer. —
¥y Do any of these result in an overflow? Arﬁz all these operations possible? (o , QU l 0

detder o Rlighftsdadd ()
§00VV(/N 0b011001 — 0b000111 |
| - $o ng@—b 0b 11100
0b010010 = 18, No overflow, ~ —= Y _ Yo, =

(e -1 Lo A1 TG0 = veu= s Y

| A0 aeg, A= [ 1 00

—~ =4 2. 0b100011 + 0b111010 -
Ob()101 0 [ T e et 8L s 0
0 | 1o |= ZQo Adding together we get 0b1011101, hovl/ever since we are working with 0 L /0 0| (O
06 ( 6-bit numbers we truncate the first digit to get 0b011101 = 29. Since we

(W}
Qw/‘(lﬁ . added two negative numbers and ended up with a positive number, this m\ no ﬂl/e/té‘éb

results in an overflow. Ox 30 = 1 lg )
3. 0x3B + 0x06 4 Ox06 1 @O ol 9
/'7( 0 0000 \

Converting to binary, we get 0b111011 4+ 0b000110 = (after truncating) Aoy, = 0b10000 , _ ,
0b000001 = 1. Despite the extra truncated bit, this is not an overflow as /’L,”P -

A
-5 + 6 indeed equals 1! g é)q; /‘? “ we cq, 01/1// e

/_/\_’/M%
4 0xFF — 0xAA O FE = g\ 111)

VT 0 AA = 10001090 Lodd v o Ao

Trick question! This is not possible, as these hex numbers would need 8

bits to represent and we are working with 6 bit numbers.

(b) What is the least number of bits needed to represent the following ranges using

’IWM any number representatior{ scheme. saﬂe_t/i GO -6\,» «(/l,\@ Sﬁﬂa/’u"( WNQ/ 9,{1 2
@to?% (s et e ,pakfnj o Amber O‘e Lu'\f'g rCLJ{J) w b

con l"au/e /(\O/Q/{Aa,\ N /&/01/(_(0\ fv% (e ‘/ﬂt\/e&
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4 Number Representation 0 2 56 Zg {L) U+ wltag u
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In general n bits can be used to represent at most 2™ distinct things. As @ PYIROIA <9 ‘l Zﬂ/ 7‘5 \

such 8 bits can represent 2% = 256 numbers. However this range actually

contains 257 numbers so we need 9 bits.
2. -7 to 56 3§§] S¢ + L7 ”) ,§é4§§ @P‘V&@pzl

Range of 64 numbers which can be represented through 6 bits as 26 = 64 {‘
2 So & L {)S

3. 64 to 127 and -64 to -127 ¢ 11 7—_) need 6Y Lids og
L dlo [;ll?/—&/) S

We are representing 128 numbers in total which requires 7 bits. 6 ‘7‘ 2

-
4.\Address every byte of a 12 TiB chunk of memory 26 . 7/' - 7 7 s 7 bl(ﬁ_

Since a TiB is 2%° and the factor of 12 needs 4 bits, in total we can represent
using 44 bits as 243 bytes < 12 TiB < 2%* bytes
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